

114.83%

\$589,298.50

			Vendor Ranking	J			Page 1 of 1
Letting:	02211117	November 17, 2021 11:00 AM	Call Order: 005		Contract:	E20J3-R0	
District:	District 2		Counties: DIST/S	ST-WIDE	Fed Aid No	: N/A	
Contract Time:	365 CALENE	DAR DAYS			Project(s):	41022137217	· (*)
Contract Desc:	Maintenance	of Traffic				41022147213	6
Rank		Vendor	Bid Type	Bid Status	-	Fotal Bid	Percent Of Low Bid
1 BOB'S BA	RRICADES, IN	IC.	Responsive	Winning bid		\$513,183.50	100.00%

Responsive Non-Winning Bid

2 ACME BARRICADES LC

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



#### 12/02/2021

Page 1 of 4

### Tabulation of Bids

Letting: 02211117 November 17, 2021 Contract: E20J3-R0 Call Order: 005 District: District 2 DIST/ST-WIDE Fed Aid No: N/A Counties: Contract Time: 365 CALENDAR DAYS Project(s): 41022137217 (\*) 41022147213

Contract Descr: Maintenance of Traffic

Furnishing, installing, maintaining, and removing traffic control devices for Maintenance of Traffic (MOT) services and providing safety boats, operators and floating equipment for Department of Transportation or other personnel to conduct bridge inspection or bridge repair activities at various bridge or structure locations as specified in the Work Document. RENEWAL OPTION. BID EXPRESS MANDATORY.

Special Bid Requirement: Submit with the bid, a letter of reference from one (1) company or government agency that indicates the company names in the bid is engaged in or has satisfactorily completed a contract within the last three (3) years as the prime Contractor on a Maintenance Contract.

Line No / Item ID Alternate Item Description	Quantity Units	(1) BOB'S BARF	RICADES, INC.	(2) ACME BAR	RICADES LC		
() indicates item is bid as Lump Sum	onito	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SU	PERSTRUC	TURE MAINTENA	NCE/REPAIR (M	н			
0005 0102 21 MAINTENANCE OF TRAFFIC- TEMPORARY BRIDGE CLOSURE (BOTH ENDS OF BRIDGE)	35.000 LO	150.00000	5,250.00	150.00000	5,250.00		
0010 0102 22 MAINTENANCE OF TRAFFIC- TEMPORARY BRIDGE CLOSURE (BOTH ENDS OF BRIDGE), MONITORING	35.000 ED	75.00000	2,625.00	100.00000	3,500.00		
0015 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	66.200 ED	100.00000	6,620.00	150.00000	9,930.00		
0020 0102909 TEMPORARY RAISED RUMBLE STRIPS PER DAY, INCLUDES ALL SETS AND RELOCATIONS	36.500 - DA	25.00000	912.50	150.00000	5,475.00		
0025 E101 1 1 MOBILIZATION	367.100 LO	200.00000	73,420.00	45.00000	16,519.50		



### 12/02/2021

## Tabulation of Bids

Page 2 of 4

Letting: 02211117	November 17,	2021 <b>Ca</b> l	I Order: 005		Contract:	E20J3-R0	
Line No / Item ID Alternat Item Description	e Quantity Units	(1) BOB'S BARF	RICADES, INC.	(2) ACME BAR	RICADES LC		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SUPERSTRUC		NCE/REPAIR (M	н			
0030 E101 72 MOBILIZATION (EMERGENCY RESPONSE)	17.100 EA	35.00000	598.50	50.00000	855.00		
0035 E102 1 2 MAINTENANCE OF TRAFFIC (SITE SPECIFIC CONTRACTS)	33.300 DA	250.00000	8,325.00	100.00000	3,330.00		
0040 E102 1 3 MAINTENANCE OF TRAFFIC (SITE SPECIFIC)	376.100 LO	650.00000	244,465.00	950.00000	357,295.00		
0045 E102 10 OFF-DUTY LAW ENFORCEMENT OFFICER	1,663.000 MH	50.00000	83,150.00	65.00000	108,095.00		
0050 E102 20 PORTABLE LIGHTING UNIT (MAST MOUNTED)	29.900 ED	75.00000	2,242.50	10.00000	299.00		
0055 E102 97 1 TRUCK MOUNTED ATTENUATOR (TEMPORARY)	210.000 ED	250.00000	52,500.00	165.00000	34,650.00		
0060 E102100 MOT MAINTENANCE SERVICES	147.000 HR	225.00000	33,075.00	300.00000	44,100.00		
0001 SUPERSTRUCTURE S MAINTENANCE/REPAIR (MH)	Section Totals:		\$513,183.50		\$589,298.50		



# **Tabulation of Bids**

Page 3 of 4

Letting:	02211117	November 17,	2021 <b>C</b>	all Order: 005		Contract:	E20J3-R0	
Line No / Iten Item Descript		te Quantity Units	(1) BOB'S BA	RRICADES, INC.	(2) ACME BA	RRICADES LC		
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$513,183.50		\$589,298.50		



Tabulation of Bids							
Letting:	02211117	November 17, 2021	Call Order: 005	Contract:	E20J3-R0		
		120.57(3), Flori required by law	to file a protest within the time pres da Statutes, or failure to post the k within the time allowed for filing a ceedings under chapter 120, Floric	bond or other security bond shall constitute			